10548 55— pou_x1 B8 - SU=>
=5 ST AZ—K—I AN RE—IL TEEYS)— FEE1 B 3IF—%D

11:00 || #xmE®E+ o505y b+ d—FKI= ?77,/77_[/

E—Y 7V FDERE
P Pl ?’774#')‘/.%%
= 12:00
m ?3;‘9_
13:00 ?/\*/ KAJL BERAS
LRSS
wn A =y
o 14:00 [ =Wer2ra0iTHs TK’%E%
e o, —°
HL B Ry Z@ﬁtﬁ‘ "J SEEE]
T JI— P
15:00 ?7”/#\/7.‘» =y
m
o Py i"ﬁ‘zMU“/ A Z EEE—
16:00 - &¥ 52— 7=k HBBUEDE L
c ?FU# 7V=27
= 17:00 ?7“7”—7'
Sz AT -aAH—h
m ~%AN7-5 DE ARLO~
18:00 ?ﬁﬁ
10858 35— PoU=Z1 _ >T27—Y WA 2U=y0
=15 AfF—Ib ANV RER=IV TRXYIT— HFEET EIF—F2
11:00 IEEﬁEf’C??U >/\’I~U7r?5i>7w—l~
12:00 IHHE%éBFHJI“U:ﬁ Hrn ?'77*(1")“/%% HRXTE | BIERE
= INSAZRTIN BEROI
72Uy b =Y
WES
13:00 Iﬁ'ﬁ?kf')i 5> 7)b—Fk ?ﬂe“a—
()]
. OR == 1 — 28 P MEH EES |
o) 14:00 |mmEs%E +1YU—F [rrmss o L
= dAPINYE: =7 V=7
T
15:00 IB’%E%E T AN—2X ?17%%
m
=8 16:00 I-lzl/—/ Vi ESANNIF» ?tﬁu—f j‘fﬁc‘?
; I 2iid B
= 17:00 |wmmE £5- ?;ggé7
] Pus

18:00 |a1>75nmzm



